Run 4320 quartetwise, posHQ: Beam DH
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Run 4320 quartetwise, asym0sub: Beam ON

—— Laser ON
—— Laser OFF

Mean:

Sbd Dharw: 1

Enitries: 1714
hd XN 4

L 85T 4

4477

2. 4o

Entries: 3039
Mean: -48.2300 /- 1.6231
Std Dev: 1294167 +- 1.2899
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Run 4320 quartetwise, negHO: Beam DIN

— Laser ON Entries: 1714 Entries: 5039 fami JoeR neahd
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-------- Histogram Vars
Positive Hel (ON): 7.618113 +/- 0.004253
Negative Hel (ON): 7.722096 +/- 0.004390
Positive Hel (OFF): 6.798333 +/- 0.002440

Negative Hel (OFF): 6.880176 +/- 0.002562

-------- Sums and Diffs

On Diff: -0.103983 +/- 0.005677

Off Diff: -0.081842 +/- 0.003029
On Sum: 15.340210 +/- 0.006519
Off Sum: 13.678509 +/- 0.003981
-------- Asymmetries
On Asym: -62.576279 +/- -3.428194 (ppt)
Off Asym: -49.251991 +/- -1.837136 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 1.661701 +/- 0.007639

BkSub Asym: -13.324288 +/- 3.889419 (ppt)
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Run 4320 quartetwise, posHO vs time
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Run 4320 quartetwise, asymQ0sub vs time
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Run 4320 quartetwise, negHO0 vs time
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Run 4320 quartetwise, bcm vs time
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